gty e
Lr___/::fﬂ _____________ - 3‘_:
t dowouall Yl gl elobel I 3Ll bl o>
RS : $oball adadall P Sl Hgoee dolae s eyl
< N . 4% o f
V-200 Y- ( Y=g (Yers) \ /
Ysee (@ - (@ F=w (¢ (Y-er-) (@
Yo (Z V (z =02 (z (F=Y-) (z [T/ Y
VS 1 (> Y=o (3 (FeY) (o
f o m e e e e e e e m—m— =
| (! v B gdalll aslias dpuoes + Dugll) Ll dram ANl JIgdl Jided e s sl |
1 Py /Y Call PO
L e e e e e e e e o 1
rdoouall LYl Gl elobl G bl Juiedd! o
AW : $oball adadall P Sl ygoeo dilae : ol ]
0- 2.0l Vo 0-= el (6c) (i
0 <ue(w 0- (< el Gy (+¢0) (<
200(z tq 0=0(z (-0) (z Jl 11\
0 20(> o (3 =gl (0= ) (5 e




Pencil


Pencil


